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(D) (C) (B) (A) QUESTIONS Q-1
i (45 o S Ve SUCEumm Py f| 1
None Durkheim Commette Sumner Who said Sociology is study of Social Institutions?
(v O e et e SA e dLdits| 2
All Maths Economics Sociology Which one of the following is not Social Science.
U:‘JJ; UE U Lﬁv-’/%ﬁ' Lﬂo:)’d:i_é ‘ung.gE_l;;,{a‘w'd-} 3
None Both Secondary Group | Primary Group |Close contacts are found in
S ive e i U s Kl 0 S 4
None Interrelated Opposite Separate Social Status and role are.
None &0 Evil i Crime (2 Sin o Voilation of Law is co Dl Juit
None J#3Y | Both Ui i ale ==t |Gold Medal is e Jwdf | 6
-ve Sanction | +ve Sanction
(v VLK e ¥ St AT | 7
All College Hospital Prison Parole and Probation officer works in
s S !3’57 Sk _ig_d_’_gﬁju:léug_) 8
All None Cultural change | Social cli@inge, |Ghange in dress code is =
-5 f e rr ey
(D) () (B) (A) QUESTIONS
74 S ot $J” - Uil 9.
None Religion Family School Basic Socialization is responsibility of
S8 U wl s e brpB U e S § | 10
None Both Nuclear Joint In Industrial Society, the family system is
v L7 )T s . el dAe | 1
All Laws Mores Folkways Social Norms are.

None JJ)’ Belief +'&= Laws L;)fI; Norms «Us*" |Religion is set of da;_;rf-._.fj 12
uﬁ’&f L 26 (-fi o ‘-'{._.:/Uvd/c.;b‘l,/d? 13
None Nomadic Industrial Agricultural | Machine is symbol of which Society.

o o Jok 6 Qv ctnig S fod P3| 14
All Industrial Nomadic Traditional Social change is fast in which society?
A8 ST 2 e i M et e Jeutp§/| 15
None Both Negative formal { +ve sanctions | Traffic challan is an example of
sanctions
Al e ekt ~ ekt 3535] 16
None Industry Modernity Education Obstacles on the way of Social development.

None L,C') Jf Both s | Achieved »/F% | Ascribed »4® ks | Teacher is a status - Kat-1] 17
v U g Srkes7 e QW ot e P | 18
None Both Social Change Mobility Change in Social Status is called.

JJ:'I Ut L:g)iy »._.;}.J;'l?‘ e brlg e enicte| 19
None Both Social Control | Social disorder | Proper Socialization Leads to
None U73f | Both us |Wresting ¢~ | Boxing £/, |Physical Interaction is e JEd | 20
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Answer briefly any Eight parts from the followings:-8x2=16 U1 f =z L 7 4T c‘._.(;fc.,():JJGJJ -2

What is meant by industnal Sociology?fe sl Ve =L f u"‘ (i)

What is meant by naturaF science?

Write down any two characteristics of Sociology as a Science.

What is the role of probation officer?

What is the application of Saciology in population welfare programme?
Describe two forms of Social interaction. /. uls &b 1 § K6 § 20 (vii)

Write any two examples of social action.

What is meant by Physical interaction?

Write down any four types of social group.

Write down any two characteristics of informal group,

Answer briefly any Eight paris from the followings:- 8x2=16 _c//7 iz &2 171 37

S sy f e (i)
Write two functions of Social Norms? Su=_iy s & w uy® 426 (iv)
WS 5 3 (vi)
LS AEGIA e (vil)
For accumulation of wealth, what type of deviation individuals do?

Write two characteristics of status?

Define social sanctions.
Define Social Deviation?

What is meant by division of deviant behaviour?
Define Social value?
Why value conflict generate social problem, write briefly?

Answer briefly any Nine parts from the followihgs:-

What did Linton say about culture?

Write two causes of cultural similarities.

Write names of Social Institution. .2 u/f(té’.u:_el;fﬂ}ts‘(iv}
What do you know about Joint Family.

What do you mean by Informal Education? ¢l UL (‘“ g (vii)

Write the organizations of informal Etucation.
Write two functions of Edueationalinstitution.
What do you say about Religious Education.

Write four naffies of Religious Institutions.
What is Horizontal Mobility.

Give two examples of Vertical Mobility,
Part 1T

Note: Attempt any three questions.

5. Sociology is a science. Explain with arguments.

Describe the elements of evolution of society.

@ © N

Write the causes of social Mobility.

Differentiate between social interaction and social action.
Write down the difference between Modemn and Traditional Societies.

LIt )
e rUe Uy (i)
.,L,_r‘/'_/fug}n U'JIJL}:'LJ"...L/‘ {iv)
e s/ U’E’/"’TJ*M (v)

e Juwry sf_.,u/utru‘ ATz (vi)
Define Social interaction..;./ s 7§ Ji6 (26 (vii)
Lo n S 3 )

e Ve JEde ()

_&u'xb U'Gf(,(uf(})b’ {xi)

;s“_,uﬁ” Sodels # (xii)
g e e J‘J G -3

How many types of status are® vruro" J..,—M (i)
Write two end-results of Role conflict. "u:‘{I iEuL w;h’pu (iii)
Write two functions of Law#’ Su56, 12 wd6 (v)
Wiite four Negative social santion§? .../ /" Fop (vii)
fur d_/uféb}u#;lﬂé L 2y (ix)

Sl Ve fJJ,u-.Jf (x)

AN dAbe (xi)
L):ﬂT/ﬂeu{ijJfrz}(JL-‘i;/bﬁtdr‘dd Iviiy

Define Sociology.

Ox2=48 _ s fen Lt ) e e R Sitn -4
e VL AL e ) ()
_q‘_’q:.*-l:.a?.u.! JJVJF; (i)
Wiite two demerits of Ethnacentrism. -2Z /7l e (et (il
SRV TL ALt S (v)
What is called Nuclear Family?-.t &< bl (vi)
L ES g5 iy
..¢U...3',Ll;u:£ 4_JiJFL,fD (ix)
FE VLN L P )
el L Ul (xi)
e Wk 7 (xil)
& uflf-*:: Jd,_fj_.; LA (xiii)
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10x3=30

_z’-:..»,»u;f.—_;;ﬁh_.;, u“fbug.:,_[rl/f =5
L ES P S 6

“Z SR U Fiunise 7

L L AL P 8
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